Notes Unit 2.10

Pre-Calculus Markwalter

Transformation General Form Example 1 Example 2

Translation Up/Down ) L wy 9 A5
] FK)ED plonb)t) |y x =2

Translation Left/Right s LeAy 3 vy

£ x2b) b= V= (x¢3)
Reﬂecﬂtion over the x- A
axis “Q(X) \/1*)3(/ { :-—z};“

1, Forparts{a) to{c),

+ Sketch the graph of each pair of functions on the same coordinate axes showing end behavior and
intercepts, and

e Describe the graph of g as a series of transformations of the graph of f.

f(x)=2%, and g(x)=2"+1

X €
2|
-l v
ol i

(I S

2| 4
B

—>

feanslwp | 7(}()

b | f(x)=2% and g(x)=2""*1
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f(x)=2" and g(x)=2""'-3 R 1

1. Forparts {a)to (¢}, -~

&
intercepts, and

¢ Describe the graph of g as a series of transformations of the graph of f.

a. | f(x)=2% and g(x)=-2"+1
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Sketch the graph of each pair of functions on the same coordinate axes showing end behavior and
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f(x)=log,(x), and g(x)=log,(x)+1
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f(x)=log,(x), and g(x)=log,(x+1)+1

f(x)=log,(x), and g(x)=log,(x-2)
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For each problem, determine whether the two given functions (g and h) are equivalent. Show your work.
Then describe the transformation that would change finto g.

1. g(x) =2-2%and h(x) = 2**! g (x) = 2%
glx anxﬂ1 x hm\s[ | fx
B= A
2. g(x) =3*"2and .h(x) =9.3% flx)=3*

73" anglle 1eFF2
gh=a-37

3. g(x) =3*3and h(x) = 3%* flx) =3*
VAR A A ta{ tight3
' 41 +-3
, 27
4. g(x) =3%**and h(x) =371-3* flx) =3*
5. g(x) =log(x — 2) and h(x) = log(x) — log (2) f(x) =log (x)
No Yeons | 11ght X
6. g(x) =log(10x) and h(x) = log(x) +1 | 4 f(x) =log (x)
Fruaslop

%) 2leg (15)4;(67 (x)
29 (041

7. g(x) =log (ﬁ) and h(x) = log(x) — 2 f(x) =log (x)
9(K)= legua)~ 2 frans | down 2 v
\ j - . 20
8. Graph f(x) = 2%, g(x) = 8(2%), and h(x) = 2**3 on the same coordinate 16 B 0 A
axes. Describe the graphs of g and h as transformations of the graph of f. e e
Use the properties of exponents to explain why g and h are equivalent. N BT
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Problem Set
f(x)=log,(x), and g(x)=-log,(x+2) “
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2. Identify whether functions f and g are equivalent. Then identify the kinds of transformations used to

get from function f to function k.

a.f(x)=3- 3" and g(x) = 3**1 k(x) =3~
fe) = 3 | Trousldion [efE [
e%):g = f) ()
Same
b. f(x) = %- 2% and g(x) = 2*73 k(x) = 2%
<1 AN : Nro
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c. f(x) =log (1%) and g(x) =log(x) — 1

SNE %") t)x) ldf)(’°) frwlttion down |
jo«)- X

k(x) = log (x)
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